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~GEOLOGY.—
Time—One hour.

1.—What is the difference between arenaceous shale
and fire clay

2 —How should you proceed to prove a fault?
Describe a faule that you know.

8.—To what geological age does the coal-bearing
system belong ?

4.—Explain the terms bed, vein, strike, dip, slate,
shale, stratum, igncous, metamorphie, tertiary and sed-
imentary.

5—How is geo'ogy nseful in conl mining ?

6.—What is a ¢l seam ¢ Compare its mode of
occurrence with go'l, silv.r, eopper, lead and iron.

~SURVEYING.—

Time—Two and a half hours.

a compnss in waking a survey
where nccuraey is el 7 Give your reasons,

2 —State your idens as to having figures showing
datum levels on your working plans

3 —Deseribe the varions modes of surveying mines
and of connecting the surface and underground work-
ings, with respect to plans,

4—Plot the tollowing to seale 100 feet to one inch,
and close the survey by latitudes and departures,
Caleulate the elosing course and distanee.

S

1—=Wonld you use

A—B N.ST00 B. 5200 ft.

B—U N.ALS0 K. 2000 ft.

C-=D N 6015 W, 1400 ft. 3542

E—F N 030 B 20001t 16505 08620
NG00 W, 4100 ft. 70711 70711

Sine.

5—What precaution would you take in making a
survey to counect two shafts, tunnel to be in same ver
tieal place as shaits ?

G—Deseribe how you would establish a true merid

~VENTILATION, —
Time—Three Hours,

l—An airway 0600 yards, size 6x 6 ft,, passes 3,.
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through another airway, 700 yards long, size 5 x 5 ft,
ventilating pressure remaining the same ?

2—What should be the theoretical diameter of port
of entry of a fan, to pass 200,000 cubic ft. of air per
minute ?

3.—With 2 H P, we have 10,000 cubie feet air per
minute in an airway 10 x 10 ft. and 3,000 feet long.
How many (horse power) will be required to circulate
the same amount of air in an airway 5 x 5 ft. and hav-
ing the same length ?

4—If 45,000 cubic feet of air is delivered at the
foot of a downeast shaft, and there divided into two
airways of equal section, but of sueh unviqual leng b
that the resistances are to ench other as 4: 1, what is
the Guantity passing in each airway.

5—How and why does u tan or furnace eanse a
enrrent of air to flow through the w akings of a mine?

G—How would you proceed to inerease by half, the
air current without altering the size of the airway ?
How much will the water gauge be increased to pro-
duce the above current ?

7—Iu the year 1858, the equivalent orifice of our
mine was equal to 350 square feet for a quantity of
126,000 cubie ft. of air per minute.  Now. in 1908,
the equivalent orifice for the same quantity, in the
same mine, is equal to 216 s. ft. cnly, how do you
account for this diflerence, andd winle you are busy,
please give the ventilating pressure for ISSS and 10057

8. How would you examine a sa‘ety lamp, tosce
that it is in perfeet order Duseribe all the parts
which are likely to be out of order in a lamp you ure
acquainted with,

9—If it require a pressure of hall an inch of water
guage to blow a eertain quantity of air through an air-
way 1,500 feet long, and having a height of G feet and
a breadth of 9 feet what should be the arca of an open-
ing wade by a regulator-shutter, to pass | of the quan.
tity that woves through the unobstracced airway ¢

~MODES OF WORK.—

1—State fully your experience in mines and min-
ing giving in detall in what occupations such exper-
jence has been pained; also in what eapacities you
have been employed in diflerent countries or districts,
(Note—It is important that candidates answer the
above question as fully as possible).
l—“)nw up & list of questions with respect to saf-
ety and condition of mine, which, in your opinion, Un-
derground Manager, Overmen and Examivers should
report to you daily, as Manager
8—In a mine where two seams of coal are being
ed, seams are 200 feet apart vertically, pitching

; work
000 cubie ft per minute, what quantity will pass thirty (30) degrees from horizontal.  Show by sketch




